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1. sin?32°+ cos?32° + tan? 20° — cot? 72° + csc? 72° — sec? 20° =

zaf

JE = (sin2 32° + cos? 32°) + (tan2 20° — sec? 20°) + (0502 72° — cot? 72°)

2. BEHIZA, ZB¥g R85, #isin62°=cosA, Htan(A+14°)=cotB, 3K ZA+2/B=

S ] 1260

$in62°=Cos A = 62°+ ZA=90°= LA=28°

tan(A+14°)=cotB= A+14°+B =90°= /B =48°

S LA+2/B =28°+96°=124° .

3. 3k (cotx +tanx)” —(tan x— cot x)° =

—

s ] 4

1+(-1)+1=1.

53 = cot® X+ tan® X + 2cot X - tan X — (tan® x + cot’ X - 2tan x- cotx) =2+2=4 .

4, % x FyIEERFY, K log(secx +tanx)+log(secx —tanx) =

W& o

log(secx + tan x) + log (sec x — tan x) =Iog(sec2x—tan2x)=loglzo :

5. #%sin@+cos@=+2, 3K (1)secOd+cscod=

W22 @2
- $ﬁ - 2 2 -
Sin@+cos =+/2 = sin?@ +cos? O+ 2sinH-cosé = 2

1+25in6’-cos€=2:sin0-c039=%

. (2)tan@ +cotd =

(1)secd +csco = + _1 :sm<9+c_osa =£=2\/§ )
cos® sind cos@-sing 1
2
2) tand+ cotd— sing | cos¢ _sin*@+cos’0 1
cosd sind cosd-sind cosd-sind

6. =R tan*11° + 2¢csc? 79° —csc 79° =

s |1

JE 5t = cot® 79° + 2¢sc? 79° —csc? 79° = (Cot4 79° —csc* 79°) +2csc? 79°

£1H



= (cot2 79° — csc? 79")(cot2 79° + csc? 79°) +2csc?79°
= (—1)(cot2 79° + csc? 790) +2csc?79° =csc?79°—cot?79°=1 .

7. 253 By x® —(tan 0 + cot@) x +1=0y—14R, K sind-cosd =

e
it | B —tR A kR FIR B8R (R
3k =1-(1)
\/§+k=tan¢9+cot6?---(2)
_ 1 N3, B I <
FH(1) k—ﬁ—?ﬁ)\(Z):\@+?—m = sin cosH_T )

8, #0°<H<90°, %tan8+cot0:§, K
(1)sin@ +cosf = , (2)sin@—cosé =

BE | )L+

25 . 12 . 24
i Dtan@+cotd=— =sinf-cosd=— = 2sinG-cosfd=—
pep | (W 12 25 25

:>1+Zsin8-cos¢9=% :>(sin¢9+cos€)2=§ :>sin9+cos¢9=i% (HYE)

(2)(sin6?—cosH)2=1—25in9-cose 1121 .'.sine—cosezil.
25 25 5

0.3%sin’@+sin@=1, K cos’0+cos’ O =
1
sin@=1-sin®0 =cos* 6 , .'.}ﬁﬁjzzcosze+(cosza)2=sin0+sin29:1 :

1 1

10. cos@=tand, >k S S
EAl jz1—S|n9 1+sin@

% | 1445

cos@ = tan f = cosezﬂ:coszezsine
cosd

1+
=1-sin’f=sind =sin?G+sind-1=0 =sind= 1_2\6 (HUIE)
1 N 1 1+sin@+1-sine 2 2 2 4
1-sin@ 1+sin@ 1-sin’@ cos?@ sin@  —1+5  —1+45
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4 B5+1 4(\/§+1) JEat.

= X =
J5-1 B5+1 5-1
11.E24012sin” @ —3sin@-cosd +cos* =0, Ktand=

WE | 190

sind ,, sin@

T | %IEHIK%ucoszaﬁzz( ) 3(—) 1=0= 2tan?@-3tanH+1=0

= (tan@-1)(2tan6-1)=0,.. tanezlﬁtanazé .

1 1 1 1 1 1
12.5% 0 F#iifs, K——+ + + + + =
0 RS jz1+sm9 1+cos@d 1l+tan@ 1+cotd 1+secd 1+cscd
s )3
W | - 1 N 1 1 N 1 1 N sing  1+sing
1+sin@ 1+cscd 1+siné 1+ 1 1+sm6' 1+sin@ 1+sing
sing
1 1 1 1
o)t + =1, + =1, ~JHzxX(=3.
@Ehcosa 1+secd 1+tan@ 1+cotd A
1 . 3sin X +2cos X
3 2sin X +3c0s X
9
FAAS ~
@fo:n 1
sin X 1

i X——+ 3x—-+2
W Vs A cosg = SSnX+2C0SX 7" cosx - _Stnx+2 T3 79

2sinx+3cosx 5, SINX . 2tanx+3 5, 1 5 11
COS X 3

14,5 SNOFCSO_ 5 g -
sin@ —cosd
e
sin¢9+
= sinf+cosf@ cosp ~_ tand+1
7 v iDL cosf = =
fi#fr (o EEERREA 59 —cosg - Siné - = o1
cosd

tanfd+1=3tand -3 = 2tand=4 , -.tand=2 .
15.3K cotl1°x cot 2° x cot 3°x - x cOt 88° x cot89° =
% |1
f#AT _Efﬁz(cot1°><cot89°)x(cot2°><cot88°)><--~><(cot44°><cot46°)><cot45°
=(cot1°><tan1°)x(cot2°><tan2°)><--~><(c0t44°><tan44°)xc0t45°=1 .

2rcos@+3sinfd=2, H0°<H<90°, Kcos@d+sind=

i
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AT | cos@+3sin@=2 = cos@=2-3sing & A =sind? +cos? =1

®
03

=sin?6+ (4-12co0s6 +9sin’ #) =1 =10sin® @ —12sin @ +3=0

6+/6
10

=sinf =

cos@=2-3sin@=2-3x

4+6

#rsin@ +cos = s

6+/6 2736
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- ° (@FE) » =sing=
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17.3F c0s?10° + cos? 20° + cos? 30° + cos? 40° + cos? 50° + cos? 60° + cos? 70° + cos® 80° =
=
ikt | JEZC = cos?10° + cos? 20° + cos? 30° + cos? 40° + sin? 40° + sin” 30° + sin? 20° + sin%10°

= (cos2 10° + sin? 10°) + (0032 20° +sin? 20°) + (cos2 30° +sin? 30°) + (cos2 40° + sin® 400)

=4 .

18.3% 0 K fg, 0°<50<90°, Ftan50 =cot4d, 3K sin30+cos6d =

5 St
A 1

R||F
>

fr | "~ tan50 =cot46 = 50+ 46 =90°= 6 =10° .

sin3¢9+cosGH:sin30°+00560°=%+%=1 .
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1—tan4¢9)cosz¢9+tan2¢9= NEY-55::D;

1

= |

B = (1+tan2 9)(1—tan2 49)0032 0 +tan?o

=(sec’@)(1-tan”#)-cos* 6 + tan” @
= (sec’§-cos’* O)(1-tan’ @) +tan’ @ =1-tan* G +tan’H =1 .

20.60 F55H4, E%[[sec@—tanezé, k(1) tand = , (2)secd =
12 13
2% | (1)=0)=
DT:@7
1

fiFHT secH—tanazg ...... OF

iy

sec’ @ —tan’ @ =1= (secd + tan #)(secd —tan ) =1
secH+tan@=5........ @
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ﬁ@@ztame:% :>sec9=§ ,

218 sin® x+cos®x =1, R THI&AIME:

(1)sinx +cosx = , (2)sin® x +cos* x =
WLE1
i | 2 sinX+cosX=t=>SiNX-COSX =

2

sin® x + cos® x = (sin X+ cos x)3 —3sinx-cosx(sinx+cosx) < a’ +b* = (a+b)° —3ab(a+h)

t? -1

=1=t’-3—— 1= -3t+2=0=(t-1) (t+2)=0=>t=1, -2 (F&)

s.sinXx+cosx=1=sinx-cosx=0

sin“x+cos“x:(sin2x)2+(cos2 x)2 =(sin2x+cos2 x)2—23in2x-coszx -1-0=1.

2#0<0<45°, ksin® (45°+6)+sin’ (45° - 6) =

T

s |1
sin? (45°+ 0) + sin’ (45° - 0)

=sin? (45°+ 0) + cos’[ 90° - (45°— 0) | =sin®(45°+ @) + cos (45°+0) =1 .

i

23.3K sin? 35° + sin? 55° + sec’® 21° — 21 -
tan”© 69°

fighr | JHE = sin® 35° + cos® 35° + sec? 21° — cot® 69° =1+sec’21°—tan®21° =1+1=2 .
24.0 B#ifg, H2sin@-cos@=1, Ksin@+cosd+tand +cotd +secd+cscé =
% | 24342
2sin@-cos@ =1 = (sind+cosb)’
=sin? 6 +cos® @+ 2sinH-cos
=1+2sin@-cosf=1+1=2 =>sin@+cosd =~/2

singd cosd 1 1
+— +—
cos@ sin@ cos@ sind

—sin@tcosf4— L SINOHCOSO _ oo 224342 .
sin@-cos@ sing-cosé

JH= =sin@ +cos O +

®5H



